



somma di tre frazioni

Nome: _____

Data: _____ Punteggio: _____

$$\frac{1}{6} + \frac{3}{6} + \frac{1}{2} =$$

$$\frac{5}{4} + \frac{2}{6} + \frac{4}{7} =$$

$$\frac{2}{7} + \frac{4}{5} + \frac{5}{7} =$$

$$\frac{1}{7} + \frac{2}{7} + 3 =$$

$$\frac{1}{4} + \frac{3}{9} + \frac{6}{2} =$$

$$\frac{6}{9} + \frac{5}{9} + \frac{5}{6} =$$

$$\frac{5}{8} + \frac{5}{9} + \frac{1}{7} =$$

$$\frac{3}{9} + \frac{3}{9} + \frac{1}{4} =$$

$$\frac{5}{9} + \frac{1}{4} + \frac{4}{6} =$$

$$\frac{6}{8} + \frac{1}{2} + \frac{2}{7} =$$



Nome: _____

Data: _____ Punteggio: _____

$$\frac{1}{6} + \frac{3}{6} + \frac{1}{2} = \frac{7}{6} = 1\frac{1}{6}$$

$$\frac{5}{4} + \frac{2}{6} + \frac{4}{7} = \frac{181}{84} = 2\frac{13}{84}$$

$$\frac{2}{7} + \frac{4}{5} + \frac{5}{7} = \frac{9}{5} = 1\frac{4}{5}$$

$$\frac{1}{7} + \frac{2}{7} + 3 = \frac{24}{7} = 3\frac{3}{7}$$

$$\frac{1}{4} + \frac{3}{9} + \frac{6}{2} = \frac{43}{12} = 3\frac{7}{12}$$

$$\frac{6}{9} + \frac{5}{9} + \frac{5}{6} = \frac{37}{18} = 2\frac{1}{18}$$

$$\frac{5}{8} + \frac{5}{9} + \frac{1}{7} = \frac{667}{504} = 1\frac{163}{504}$$

$$\frac{3}{9} + \frac{3}{9} + \frac{1}{4} = \frac{11}{12}$$

$$\frac{5}{9} + \frac{1}{4} + \frac{4}{6} = \frac{53}{36} = 1\frac{17}{36}$$

$$\frac{6}{8} + \frac{1}{2} + \frac{2}{7} = \frac{43}{28} = 1\frac{15}{28}$$